SOME TRIG IDENTITIES

Derivatives
(sinf)’ = cos @
(cosf) = —sinb
(tan 6)" = sec®§
(sec )’ = sechtan b
Identities

sin?0 + cos?0 = 1
tan® 60 4+ 1 = sec? 0
Half Angle formula:

1
sin 0 cos 0 = 5 sin(26)
1
sin®f = 5(1 — cos 20)
1
cos? 0 = 5(1 + cos 20)

Product to Sum formula:

1

sinasinb = E[cos(a —b) — cos(a + b)],
1

cosacosb = 5[008(& —b) + cos(a + b)],
1

sinacosb = §[Sin(a + b) + sin(a — b)],

1
cosasinb = —[sin(a + b) — sin(a — b)].
Sum to Difference formula:

sin(a + b) = sinacosb £ cos asin b,

cos(a £ b) = cosacosb F sinasinb.



